
  
  

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

 

 

 
 

PART NUMBER: H0581CC 

PRODUCT: NERF-STEP 

APPLICATION: 04-15 HONDA RIDGE 

LINE 

 

 

 

 

 

 

 

 

 

INSTALLATION: 
Step 1:  Locate the Driver side Step. (Fig. A) 

 

         
                   
Step 2:  There will be three OE mounting locations on the underside of the body.  Two towards 

the front of the cab, and one located towards the rear of the cab. Carefully align the brackets to 

the OE mounting holes. (Fig. B) 

 

                                          

Parts included:                                                   Qty 
Driver Side Nerf-step                                                  1 

Passenger side Nerf-Step                                           1 

Support Brackets                                                         6 

Hardware Pack:                                                   1 

M8x25mm HC Bolts                                                   12 

3/8” Flat Washers                                                      12 

5/16”x1” Hex head bolts                                          18 

5/16” Nuts                                                                   18 

5/16” Washer                                                             36 

Fig. A 

OE mounting 
Mounting Holes 

Fig. B 



Step 3:  Starting with the center bracket, insert the two M8x25mm Hex head bolts, nuts, and 

washers. Leave bolts loose; do not tighten all the way. (Fig.C) 

                                          
 

Step 4:  Move to the front bracket and insert hardware finger tight and then to the rear 

bracket. 

 

Step5:  Once you have the hardware  snug in the rear  bracket, raise nerf-step into position 

close to the body and torque the  bolts to 15-20ft./lbs. Then move to the front bracket and level 

step with the rear and torque bolts. Finsh by torquing down bolts in center bracket completting 

the install. 

 

Step 6:  Next, take one of the supplied support bracktes and align with the driver side front step 

bracket and loosely mount in slotted hole using the 5/16”x1” hex bolts, nuts, and washers. 

(Fig.D) 

                     
 

 

Fig.C 

  Slotted Hole 
In step Bracket 

Support  
 Bracket 

Fig. D 



  
  

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

 

 

 
 

PART NUMBER: H0581CC 

PRODUCT: NERF-STEP 

APPLICATION: 04-15 HONDA RIDGE 

LINE 

Step 7:  Next, align the two upper 5/16” holes in the support bracket with the pinch weld in the 

body of the vehicle and drill out mounting holes. Sercure with the supplied 5/16”x1” Hex bolts, 

nuts, and washers. Adjust to proper alignment and tighten all hardware. (Fig. E) 

 

 
 

 

Step 8:  Repeat steps 1-5 with the driver side. This concludes the installation. 

NOTE: Check bolts after two weeks and re-tighten any loose hardware. 

 

                        

 

 

 

Pinch Weld 
  Mounts 

Fig. E 


